
 

 

 

 

Vendor:VMware

Exam Code:VCAP5-DCD

Exam Name:VMware Certified Advanced Professional
5 - Data Center Design (VCAP5-DCD)

Version:Demo

 

 



QUESTION 1

A logical design includes basic subsystems that the design will use and data flow directions, but it does not include
specific hardware or settings details. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

You have been sent a query regarding a platform you have just designed and implemented. Following a maintenance
window where VMware HA was disabled, the VMware HA settings were lost. How would you prevent this issue? 

A. Back up the vCenter database and restore it if the problem reoccurs. 

B. Instruct the team to use the Host monitoring tab functionality. 

C. Instruct the team to use the VM monitoring tab functionality. 

Correct Answer: B 

 

QUESTION 3

Which quality of a good design does NIC teaming and storage multipathing help achieve? 

A. Recoverability 

B. Performance 

C. Availability 

D. Manageability 

Correct Answer: C 

 

QUESTION 4

An implementation plan is a(n) ______________. 

A. test plan to ensure proper system operation 

B. blueprint of the design 

C. operations manual 

D. document or set of documents that provides detailed instructions for installing the system 



Correct Answer: D 

 

QUESTION 5

A guest VM has 50 GB allocated to it and a 2 GB limit. What is the size of the swap file? 

A. 50 GB minus the reservation 

B. 48 GB minus the reservation 

C. 52 GB minus the reservation 

D. 2 GB minus the reservation 

Correct Answer: A 

 

QUESTION 6

The design process involves creating a conceptual design, using the conceptual design to aid in creating the logical
design, and then using the logical design to assist in creating the physical design. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 7

You are considering the correct option for a VMware HA cluster admission control policy. The system is a hosted
platform, and for business reasons, reservations will not be used. Which of the following statements is correct? 

A. The only admission control policy possible is based on failover host. 

B. A default slot size will be used in place of reservations. 

C. The percentage-based admission control policy should be used. 

Correct Answer: B 

 

QUESTION 8

____________ can be configured to ensure that a type of traffic receives priority for bandwidth when bandwidth is
congested? 

A. SIOC 

B. NIOC 



C. Shares 

D. Reservations 

Correct Answer: B 

 

QUESTION 9

Which of the following could prevent a physical system from being converted to a virtual workload? 

A. The physical system uses legacy operating systems, such as Windows 

B. NT 4. 

C. The application running on the physical server is not supported in a virtual platform. 

D. The application has not been tested in a virtual platform. 

Correct Answer: B 

 

QUESTION 10

Documentation requirements for different designs require the same deliverables. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 11

Active discovery methods require agents. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 12

The use of VMware host profiles can aid in _____________. 

A. configuration management 

B. change management 

C. both these answers are correct 



Correct Answer: C 
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